





#### **Dispersion relation**



$$\omega(k_z) = c\sqrt{A_n^2 + k_z^2}$$

Phase velocity 
$$v_{ph} = \omega / k_z = c \sqrt{1 + \left(\frac{A_n}{k_z}\right)^2} > c$$
  
Group velocity  $v_{gr} = d\omega / dk_z = c / \sqrt{1 + \left(\frac{A_n}{k_z}\right)^2} < c$ 

For each excitation frequency  $\omega$  one obtains a propagation in the wave guide of

$$e^{ik_z z}$$
,  $k_z = \sqrt{\left(\frac{\omega}{c}\right)^2 - A_n^2}$ 

Transport for  $\omega$  above the cutoff frequency  $\omega > \omega_n = cA_n$ Damping for  $\omega$  below the cutoff frequency  $\omega < \omega_n = cA_n$ 





### Transverse fields



June 2010

TE-modes: Once  $B_z$  is know, the full field can be found

$$\vec{\nabla}_{\perp} \times \vec{E}_{z} + ik_{z}\vec{e}_{z} \times \vec{E}_{\perp} = i\omega\vec{B}_{\perp}$$

$$\vec{\nabla}_{\perp} \times \vec{B}_{z} + ik_{z}\vec{e}_{z} \times \vec{B}_{\perp} = -i\omega\frac{1}{c^{2}}\vec{E}_{\perp}$$

$$k_{z}\vec{E}_{\perp} + \omega\vec{e}_{z} \times \vec{B}_{\perp} = \vec{e}_{z} \times (\vec{\nabla}_{\perp} \times \vec{E}_{z}) = -i\vec{\nabla}_{\perp}E_{z}$$

$$\omega\frac{1}{c^{2}}\vec{E}_{\perp} + k_{z}\vec{e}_{z} \times \vec{B}_{\perp} = i\vec{\nabla}_{\perp} \times \vec{B}_{z}$$

$$(\frac{\omega^{2}}{c^{2}} - k_{z}^{2})\vec{E}_{\perp} = i(k_{z}\vec{\nabla}_{\perp}E_{z} + \omega\vec{\nabla}_{\perp} \times \vec{B}_{z})$$

$$(\frac{\omega^{2}}{c^{2}} - k_{z}^{2})\vec{e}_{z} \times \vec{B}_{\perp} = -i(\frac{\omega}{c^{2}}\vec{\nabla}_{\perp}E_{z} + k_{z}\vec{\nabla}_{\perp} \times \vec{B}_{z})$$

$$\vec{E}_{\perp} = \frac{i}{\frac{\omega^{2}}{c^{2}} - k_{z}^{2}}(k_{z}\vec{\nabla}_{\perp}E_{z} + \omega\vec{\nabla}_{\perp} \times \vec{B}_{z})$$

$$\vec{E}_{\perp} = \frac{i}{\frac{\omega^{2}}{c^{2}} - k_{z}^{2}}(k_{z}\vec{\nabla}_{\perp}E_{z} - \omega\vec{\nabla}_{\perp} \times \vec{E}_{z})$$



### **Rectangular Wave Guide**



Boundary conditions:

$$E_{z}(\vec{x}_{0}) = 0 \quad \vec{\nabla}_{\perp}^{2} E_{z} = [k_{z}^{2} - (\frac{\omega}{c})^{2}] E_{z}$$

$$E_{z}(\vec{x}) = E_{0} \sin(\frac{n\pi}{a} x) \sin(\frac{m\pi}{b} y)$$

$$(\frac{\omega}{c})^{2} - k_{z}^{2} = k_{nm}^{(B)2} = (\frac{n\pi}{a})^{2} + (\frac{m\pi}{b})^{2}$$

$$\partial_{r} B_{z}(\vec{x}_{0}) = 0 \quad \vec{\nabla}_{\perp}^{2} B_{z} = [k_{z}^{2} - (\frac{\omega}{c})^{2}] B_{z}$$

$$B_{z}(\vec{x}) = B_{0} \cos(\frac{n\pi}{a} x) \cos(\frac{m\pi}{b} y)$$

$$(\frac{\omega}{c})^{2} - k_{z}^{2} = k_{nm}^{(E)2} = (\frac{n\pi}{a})^{2} + (\frac{m\pi}{b})^{2}$$

TE and TM modes happen to have the same eigenvalues.

For simplicity one still looks at TE and TM modes separately.



## Rectangular TE Modes



$$\begin{split} E_{z}(\vec{x}) &= 0, \quad B_{z}(\vec{x}) = B_{0} \cos(\frac{n\pi}{a}x) \cos(\frac{m\pi}{b}y) \\ \vec{E}_{\perp} &= \frac{i}{\frac{\omega^{2}}{c^{2}} - k_{z}^{2}} \left(k_{z} \vec{\nabla}_{\perp} E_{z} + \omega \vec{\nabla}_{\perp} \times \vec{B}_{z}\right) \\ \vec{B}_{\perp} &= \frac{i}{\frac{\omega^{2}}{c^{2}} - k_{z}^{2}} \left(k_{z} \vec{\nabla}_{\perp} B_{z} - \frac{\omega}{c^{2}} \vec{\nabla}_{\perp} \times E_{z}\right) \end{split}$$

$$\vec{E}(\vec{x}) = \frac{\omega}{k_{nm}^{(E)2}} B_0 \begin{pmatrix} \frac{m\pi}{b} \cos(\frac{n\pi}{a}x)\sin(\frac{m\pi}{b}y)\sin(k_z z - \omega t) \\ -\frac{n\pi}{a}\sin(\frac{n\pi}{a}x)\cos(\frac{m\pi}{b}y)\sin(k_z z - \omega t) \\ 0 \end{pmatrix}$$
$$\vec{B}(\vec{x}) = \frac{k_z}{k_{nm}^{(E)2}} B_0 \begin{pmatrix} \frac{n\pi}{a}\sin(\frac{n\pi}{a}x)\cos(\frac{m\pi}{b}y)\sin(k_z z - \omega t) \\ \frac{m\pi}{b}\cos(\frac{n\pi}{a}x)\cos(\frac{m\pi}{b}y)\sin(k_z z - \omega t) \\ \frac{k_{nm}^{(E)2}}{k_z}\cos(\frac{n\pi}{a}x)\sin(\frac{m\pi}{b}y)\sin(k_z z - \omega t) \end{pmatrix}$$



Accelerator Physics USPAS



# Rectangular TM Modes



$$E_z(\vec{x}) = E_0 \sin(\frac{n\pi}{a}x) \sin(\frac{m\pi}{b}y), \quad B_z = 0$$

$$\vec{E}_{\perp} = \frac{i}{\frac{\omega^2}{c^2} - k_z^2} (k_z \vec{\nabla}_{\perp} E_z + \omega \vec{\nabla}_{\perp} \times \vec{B}_z)$$
$$\vec{B}_{\perp} = \frac{i}{\frac{\omega^2}{c^2} - k_z^2} (k_z \vec{\nabla}_{\perp} B_z - \frac{\omega}{c^2} \vec{\nabla}_{\perp} \times E_z)$$

$$\vec{E}(\vec{x}) = \frac{k_z}{k_{nm}^{(E)2}} E_0 \begin{pmatrix} -\frac{n\pi}{a} \cos(\frac{n\pi}{a} x) \sin(\frac{m\pi}{b} y) \sin(k_z z - \omega t) \\ -\frac{m\pi}{b} \sin(\frac{n\pi}{a} x) \cos(\frac{m\pi}{b} y) \sin(k_z z - \omega t) \\ \frac{k_{nm}^{(E)2}}{k_z} \sin(\frac{n\pi}{a} x) \sin(\frac{m\pi}{b} y) \cos(k_z z - \omega t) \end{pmatrix}$$
$$\vec{B}(\vec{x}) = \frac{\omega}{c^2 k_{nm}^{(E)2}} E_0 \begin{pmatrix} \frac{m\pi}{b} \sin(\frac{n\pi}{a} x) \cos(\frac{m\pi}{b} y) \sin(k_z z - \omega t) \\ -\frac{n\pi}{a} \cos(\frac{n\pi}{a} x) \sin(\frac{m\pi}{b} y) \sin(k_z z - \omega t) \\ 0 \end{pmatrix}$$

June 2010



Georg.Hoffstaetter@Cornell.edu Accelerator Physics USPAS



Accelerator Physics USPAS



Accelerator Physics USPAS



### **Cylindrical Wave Guides**



June 2010

TM Modes:

$$E_{z}(\vec{x}_{0}) = 0 \quad \vec{\nabla}_{\perp}^{2}E_{z} = [k_{z}^{2} - (\frac{\omega}{c})^{2}]E_{z}$$

$$(\partial_{r}^{2} + \frac{1}{r}\partial_{r} + \frac{1}{r^{2}}\partial_{\varphi}^{2})E_{z} = [k_{z}^{2} - (\frac{\omega}{c})^{2}]E_{z}$$

$$(\xi^{2}\partial_{\xi}^{2} + \xi\partial_{\xi} + \xi^{2} - n^{2})E_{z} = 0, \quad \xi = k_{nm}^{(B)} r$$

$$E_{z}(\vec{x}) = E_{0}J_{n}(k_{nm}^{(B)}r)e^{in\varphi} \qquad k_{nm}^{(B)} = \frac{Z_{nm}}{R} \text{ with the mth 0 of the nth Bessel function}$$
Notation: TM<sub>nm</sub> Mode

- $\partial_r B_z(\vec{x}_0) = 0 \qquad \nabla_{\perp}^2 B_z = [k_z^2 (\frac{w}{c})^2] B_z$  $B_z(\vec{x}) = B_0 J_n(k_{nm}^{(E)} r) e^{in\varphi} \qquad k_{nm}^{(E)} = \frac{S_{nm}}{R} \text{ with the mth extremum of } J_n$

Notation: TE<sub>nm</sub> Mode







Accelerator Physics USPAS

June 2010

204  
(Cylindrical Wave TM Modes  

$$E_{z}(\vec{x}) = E_{0}J_{n}(\frac{Z_{mn}}{R}r)e^{in\varphi}, \quad B_{z}(\vec{x}) = 0$$

$$\vec{E}_{\perp} = \frac{i}{\frac{m^{2}}{c^{2}}-k_{z}^{2}}(k_{z}\vec{\nabla}_{\perp}E_{z}+\omega\vec{\nabla}_{\perp}\times\vec{B}_{z})$$

$$\vec{B}_{\perp} = \frac{i}{\frac{m^{2}}{c^{2}}-k_{z}^{2}}(k_{z}\vec{\nabla}_{\perp}B_{z}-\frac{\omega}{c^{2}}\vec{\nabla}_{\perp}\times\vec{E}_{z})$$

$$E_{r} = i\frac{Rk_{z}}{Z_{mn}}\partial_{r}E_{z} = -E_{0}k_{z}J'_{n}(\frac{Z_{mn}}{R}r)\sin(n\varphi+k_{z}z-\omega t)$$

$$E_{\varphi} = i\frac{Rk_{z}}{Z_{mn}}\frac{1}{r}\partial_{\varphi}E_{z} = -E_{0}nk_{z}\frac{1}{Z_{mn}}\frac{R}{r}J_{n}(\frac{Z_{mn}}{R}r)\cos(n\varphi+k_{z}z-\omega t)$$

$$E_{z} = E_{0}J_{n}(\frac{Z_{mn}}{R}r)\cos(n\varphi+k_{z}z-\omega t)$$

$$B_{r} = -i\frac{R\omega}{Z_{mn}}\frac{1}{r}\partial_{\varphi}E_{z} = E_{0}n\frac{\omega}{c^{2}}\frac{1}{Z_{mn}}\frac{R}{r}J_{n}(\frac{Z_{mn}}{R}r)\cos(n\varphi+k_{z}z-\omega t)$$

$$B_{\varphi} = i\frac{R\omega}{Z_{mn}}\partial_{r}E_{z} = -E_{0}\frac{\omega}{c^{2}}J'_{n}(\frac{Z_{mn}}{R}r)\sin(n\varphi+k_{z}z-\omega t)$$

$$B_{z} = 0$$





